A Post 1 Post 2 D C B
: Rail/R i ‘ .
Rail/Rub=Rail 1 Rail/Rub—Rail 3
LA AV AL YY1 1a e . .
LA B2 L4 , R YV YV
A8 i '/A AR a8 ’/ 7 AR t: |
| M s \ v v v v v ‘\‘ \/_\H ) — | (B \ \ -
Rail/Rub=Rail 2 Rail/Rub—Rail 4
—— ——
A C B
PLAN VIEW
Median Steel—Backed Timber Guardrail to .
Steel—Backed Timber Guardrail (SBTG)—Median—Type A Stone—Faced Median Barrier Transition Masonry Stone—Faced Barrier
— e L B E—
‘ 10'—0" [3048] 50" [1524] ‘ 5 -0" [1524]

\ \ \ [
| | ]
| | |
| | |
| | |
\ \ \ \ \ \
| | |
\ \ \ \ \ \
| | |
L 1 L | I
SIDE_ELEVATION VIEW
31-1/2" 24”
[800] [610]
30" [762] - 32" [813]
Ground Surface Ground
= I _Surfoce
[ 10" [254] e ———
[ 1 ;
| ‘
54-1/2" |
[1384] } }
L SECTION B-B
I

SECTION_A—A

MEDIAN STEEL—BACKED TIMBER GUARDRAIL TO STONE—FACED MEDIAN BARRIER TRANSITION

Genter for
Collision Safety
and Analysis

£ -
LCSA

S1GT2a

SHEET NO. DATE

1 of 7 | 5/11/2023




INTENDED USE

The Median Steel-Backed Timber Guardrail to Stone-faced Median Barrier Transition serves
as a transition between the “The Steel-Backed Timber Guardrail” and “The George Washington
Memorial Parkway (GWMP) Masonry Stone-faced Barrier.” The transition was designed to blend
and preserve the aesthetics of both barriers. The design provides a safe and robust transition by
preventing wheel snagging with the rigid wall end. It has been successfully crash-tested in
accordance with MASH 2016, Test Level 3 (TL-3) for transitions between longitudinal barriers at the
FHWA Federal Outdoor Impact Laboratory (FOIL) (Test 23002). The design ensures that the
transition is visually appealing while providing a secure and reliable solution to protect motorists

MATERIALS and CONSTRUCTION NOTES
1. Use weathering steel for all structural steel and fastener hardware as specified.
2. Pre-drill 0.75” [19mm] holes in blockouts, rails, and posts for 5/8” [16mm] carriage bolts.
3. Concrete Strength — F’c = 4500 psi [31.0 MPa] @ 28 days (min).
4. Reinforcing Steel - ASTM A615, fy = 60 ksi [414 MPa] (min).

5. Drawings not to scale. All dimensions are in inches (*), and [millimeters].

ELIGIBILITY
Federal Highway Administration (FHWA) Eligibility has not been pursued.

REFERENCES

<Project Report citation>

CONTACT INFORMATION

Center for Collision Safety and Analysis (CCSA)
College of Science, George Mason University,
4087 University Drive
Fairfax, VA 22030
Phone (703) 993-4694
https://www.ccsa.gmu.edu/

Median Steel-Backed Timber Guardrail to Stone-faced Median Barrier Transition

STG12a

Genter for >
SHEET NO. DATE calison Slel u
20f7 5/11/2023 and Analysis




6” 1" 10"
[152] [25] [254]
€
i
e
_ = .
32 \ ,
[813] L= 4 RN
25” —é N
[635] s L /
i 0
B VAN
10 -
[254]
o | gofe

A ——

-

Timber Block #3

3/8"x4"” [9x102]Wood Screws (40), Pre—Drill 1/4” [6] Holes
3—1/2" [89] Deep in Timber Blocks

Steel—Backed Timber Main Rails

3/4" [19] Dia. J—Hook Anchor Bolts ,

Plate Washers & Nuts (8),

#5 U—Shape Reinforcement at 8” [203] O.C. or Approved Equal

#4 Loop Reinforcement (2 as shown)

Timber Block #2

Reinforced Concrete Core

: Z
Coam T
b
4
o | o 2 o

#5 U—Shape

Reinforcement at 8" [203],
First (3) at 4” [102] O.C.

\

SECTION _C-C

Reinforced
Concrete Core

Timber Block #1

3/4” [19] Dia. J—Hook Anchor Bolts,
Plate Washers & Nuts (8), FRJ20a

Steel-Backed Timber Rub—Rails

e 2" [51] Asphalt Overlay

-.‘/J‘:\’/ Reinforced Concrete Deck

Deck Reinforcement, Varies

#5 Horizontal
Reinforcement at
8" [203] O.C.

#5 Horizontal Reinforcement at 8” [203] 0.C.

3-1/2" [89] T ) 7[1271
— - o - — - — - I
- e / /
27-1/2" * 26"
[699] [660]
- s - = - -
e - X k:f:r
= e e e e e e e e 3" [76]
17 [25] o o o o o o o 2 o
[ /l j 8" [203]
i T T T T T T A
#4 Loop Deck Reinforcement

Reinforcement (2)

SECTION D-D

Concrete Deck

FRJ20a

MEDIAN STEEL—BACKED TIMBER

GUARDRAIL TO STONE—-FACED MEDIAN BARRIER TRANSITION

Genter for
Collision Safety
and Analysis

I
GSAy/

S1GT2a

SHEET NO.

DATE

S of 7

5/11/2023




3/4"x8—1/2" [19x216] Carriage Bolt 8—1/4"
with Hex Nut & Washer, Typical [210]
1-1/2"
Steel—Backed Timber Guardrail, [38]/T Typ. 5" [127] . ) .
Rough—Sawn Timber Rail, Typical R e Typ. Transition Main Rail 1
7/8" [22] Dia. Hole,
Typical
I = i T T |
\\‘\\\\\\\m}\‘\\\}\‘%‘\\‘\
ey /?’“ | I s I <~
7 2 =2 & = & 333 & 1
WA R AN
VA 47x9"x12” [102x229x305]
Steel Rail Steel Splice Plate . 5 Timber Block, Typical

5/8"x20” [16x508] Carriage Bolt
with Hex Nut & Washer, Installed

\Rough—Sawn Timber Post
10"x12"x96” [254x305x2438]

5/8" [16] Dia. Lag Screw,
Pre—drill 3/8" [9] holes 3—1/2"
[89] deep into Timber Rail, Typical

Center Bolt in Slot at 60°F, Finger

Tight Nut, Damage First Thread

thru Splice Plates .
L = o a w8 & [ w o Py PP
VU - U \‘/ “\ " i - \ ~n " \‘% “\ \ U - vou below Nut
o A NP
I = 1
Minimum 1-1/2" [38] Gap at 2” [51] Chamfer at Hex \ " ) _
60°F for Bridge Expansion, Typical Nut, Typical Transition Main Rail 2
MAIN RAILS TO POST 1 CONNECTION — PLAN VIEW
3/4"x8—1/2" [19x216] Carriage Bolt 8—1/4"
with Hex Nut & Washer, Typical
-1/ [$10] 5" [127]
Transition Main Rail 1 [38] Typ. »P ‘ Typ. Transition Main Rail 3
7/8" [22] Dia. Hole,
Typical
b = b = = |
YR \\‘\‘L/\H‘\\‘\H/‘}/“/\‘\\‘\\
W A aB e a i Tl
5/8" [16] Dia. Lag Screw,

3

333

\
.
|
f + /

Steel Rail Steel Splice Plate

5/8"x16" [16x406] Carriage Bolt with Hex Nut

Timber Block, Ty,

v -
I~ 2"x9"x12” [51x229x305]

Rough—Sawn Timber Post
10"112")(96" [254x305%x2438]

1
\Pre—drill 3/8" [9] holes 3—1/2"

pical . N )
[89] deep into Timber Rail, Typical

Center Bolt in Slot at 60°F, Finger

& Washer, Installed thru Splice Plates

Tight Nut, Damage First Thread
below Nut

D

c==f

D

"

< i
|
\

Transition Main Rail 2 60°F for Bridge Expansion, Typical

Minimum 1-1/2" [38] Gap at / 2” [51] Chamfer at Hex

Nut, Typical

Transition Main Rail 4

MAIN RAILS TO POST 2 CONNECTION — PLAN VIEW
3/4" 3/4"
[19] R
6" 4" 10" 6 2
Transition Rail 1 [152] [102 [254] Transition Rail 2 Transition Rail 3 [152] Transition Rail 4
f" [13] / 1/27 [13]
b ! S
30" 30" "
[762] 25" ;::)n_s;:r No. 1 Transition Rub—Rail 2 [762] 257 ;Lc;fgzr 3 Transition Rub—Rail 4
[635] [635]
10" Rough—Sawn Timber Post 10" _ X Rough—Sawn Timber Post
[254] 10°x12"x96" [254x305x2438] [254] / 10"x12"x96" [254x305x2438)
Ground Surface = B Ground Surface
7 -
CROSS SECTION AT POST 1 CROSS SECTION AT POST 2
MEDIAN STEEL—BACKED TIMBER GUARDRAIL TO STONE—FACED MEDIAN BARRIER TRANSITION

SIGT2Z0

tee for \
ellision Satey SHEET NO. | DATE
ond nalsis 4 of 7 | 5/25/2023




3/4"x8—1/2" [19x216] Carriage Bolt 8—1/4"
with Hex Nut & Washer, Typical [210]
1-1/2"
[38]/T 5” [127] Rough—Sawn Timber Rub Rail
N . YP- Typ. 6"x6"x58—1/2" [152x152x1486]
7/8" [22] Dia. Hole, Typical
Typical
W N AC T L M
n n \ \ n
i i i /MLL i 41 5/8" [16] Dia. Lag Screw,
' Pre—drill 3/8" [9] holes 3—1/2"
5/8"x12” [16x305] Carriage Bolt  Steel RGI| Steel Splice’ Plate > Rough—Sawn Timber Post [89] deep {nto [Tiil'nber Rail Tgpicul

with Hex Nut & Washer, Installed
thru Splice Plates, Typical

10"x12"x96" [254x305x2438]
Center Bolt in Slot at 60°F, Finger

i A== T 'T i yii 2= Tight Nut, Damage First Thread
S / ; H i Mi / ! S/ below Nut
Minimum 1-1/2" [38] Gap at 2” [51] Chamfer at Hex
60°F for Bridge Expansion, Typical Nut, Typical
RUB—RAILS TO POST CONNECTION — PLAN VIEW
| 58—1/2" [1486] | 12 [308]
» 4"
IR i pent [ ]
8-1/4" 5" 5" 8-1/4" & 4
3-1/2" [210] [127] [127] [210] [152] fol
= | ‘ —
4-1/2"
w | o o o o 9" [114]
[2s4] | ¥ 761 }: o //“ o o [229] /f
3/4”" [19] Dia. Hole, Typ.
3/4" [19] Dia. Holes (8), Typ.
WOOD MAIN RAILS 1 & 2 WOOD BLOCKOUTS AT POST 1
I 58—1/2" [1486] |
| 12" [308]
6" oo oo
[152] Hoo Hoo T 1
. 8-1/4" 5" 5" 8-1/4" o
[210] [127] [127] [210] p
[5lf i | [152] [51]
6" " o o
(2] | 2 mLig ° /2"
9" [114]
3/4” [19] Dia. Holes (4), Typ. [229] /

WOOD RUB—RAILS 1 & 2

3/4" [19] Dia. Hole, Typ.

WOOD BLOCKOUTS AT POST 2

MEDIAN STEEL-BACKED TIMBER GUARDRAIL TO STONE—FACED MEDIAN BARRIER TRANSITION

Center for
Collision Safely
and Analysis

L.
LESA

SIGT2Z0

SHEET NO. DATE

5 of 7 | 5/25/2023




| 58—1/2" [1486]

58—1/2" [1486] |

‘ 56-1/2" [1435]

1-1/4" [32] Dia.
Holes (2), Typ.

12"
[305]

5" 8-1/4"
[127] [210] 3120 .
[89] [89]

10" 10" | 3
[254] [254]| [76]

IS

o] o]
0/37

4" [102] Dia., 1"
[25] Deep (2), Typ.

WOOD MAIN RAIL 3

| 58—1/2" [1486]

o o
70\0

56-1/2" [1435] ‘

1-1/4" [32] Dia.
Holes (2), Typ.

12"
[3085]

3/4" [19] Dia. Holes (4), Typ.

3/4” [19] Dia. Holes (4), Typ.

4” [102] Dia., 1"
[25] Deep (2), Typ.

WOOD MAIN RAIL 4

58-1/2" [1486] |

‘ 56-1/2" [1435]

8-1/4" 5
[210] [127]

56-1/2" [1435] ‘

3-1/2"
1-1/4" [32] Dia. [89/]

Holes (2), Typ.

3-1/2" 6 5" 8-1/4"
[89] [152] 1-1/4” [32] Dia. [127] [210]
— Holes (2), Typ. 2 [51]
5" 2" Sn s.. 2--
[152]} 3 [75]T@ @ ° /aii [51] | [152] r1s21 | (5114

4" [102] Dia., 1"
[25] Deep (2), Typ.

WOOD RUB-RAIL 3

14" [356]
5" [ 6"
LI I

10" [254]

2-1/2" 3" 3" 3" 2-1/2" R
[64] [76][76][76] [64] 6
p | | [152]
1-1/2"
8] | ‘ ‘
& | -]
[152] 3 UG]ALf, . . ==
A
1—1/2"T
[38]

1/4" [6] Dia. Holes (8),
3-1/2" [89] Deep, Typ.

TIMBER BLOCK #1

N

o
@ @»ﬁ [7e] | [152]

3/4" [19] Dia. Holes (2), Typ.

14" [356]
5" [ 6"
[127] L [152]

10" [254]

2-1/2" 3" 3" 3" 2-1/2"

3/4" [19] Dia. Holes (2), Typ.

[64] [76][76][76] [64] 6
| | [152]
o) | L
[177"51 e} | C :i
2" [SWJT

1/4” [6] Dia. Holes (8),
3-1/2" [89] Deep, Typ.

TIMBER BLOCK #2

4" [102] Dia., 1"
[25] Deep (2), Typ.

WOOD RUB—RAIL 4

14" [356]

R
U ] ] ] 10"
n n n n [254]
I
2-1/2" 3" 3" 3" 2-1/2
[64] [76]1[76][76] [64]
| | 10" [254]
1-3/4” [44] ‘ ‘
3-1/2"
[89] ‘ — "/ - ‘ F:: ::%

1/4" [6] Dia. Holes (8),
3-1/2" [89] Deep, Typ.

TIMBER BLOCK #3

MEDIAN STEEL—BACKED TIMBER GUARDRAIL TO STONE—FACED MEDIAN BARRIER TRANSITION

Genter for
Collision Safety
and Analysis

I
GCSAN/

S1GT2a

SHEET NO. DATE

6 of 7 | 5/11/2023




3/8” [10] Thick Steel Rail, 56” [1422] Long 3/8" [10] Thick Steel Rail, 56" [1422] Long
i 7" 5" 5 7" 8" 7”7 5" 5 7" i 7" 5" 5 7" 8" 9” 6-3/4" 6" 2-1/4"
17[;5/]2 [178] ‘[127]‘[127]‘ [178]  [203] ‘ [178] [127]‘[127]‘ [178] ‘*[;éjz [178] ‘[127]‘[127]‘ [178]  [203] ‘ [229] [171] [152] [57]
} | | | | >
o o ° ° o o L o o ° ° l [76]
6” [152] | 3" [76] g o Lo " | S 6" [152] | 3" [76] g o o ) ! o f,
7/8" [22] Dia. Holes (8), Typ. 11/16" [17] Dia. Holes (4). Typ. 7/8" [22] Dia. 11/16" [17] Dio. 1" [25] Dio. T
Holes (4), Typ. Holes (4), Typ. Holes (2), Typ.
STEEL MAIN RAILS 1 & 2 STEEL MAIN RAILS 3 & 4
3/8" [10] Thick Steel Rail, 56” [1422] Long 3/8" [10] Thick Steel Rail, 56” [1422] Long |
7" 5" 5 7" 8" 7”7 5" 5 7" 7" 5" 5 7" 8" 9" 6-3/4" 6" 2-1/4"
” [178] [127] [127] [178] [203]  [178] [127] [127] [178] 1 [178] [127] [127] [178] [203] [220] [171] [152] 571
[25] | | | | | [25] | | |
[ ] [
" » o] o o o] » " o] o o
4" [102] t 2" [51] 5 i b, ‘ 4 [mz]l 2" [51] 5 ) ! ° 2
7/8" [22] Dia. Holes (4), Typ. 11/16" [17] Dia. Holes (4). Typ. 7/8" [22] Dia. 11/16” [17] Die. 1" [25] Dia. T
Holes (2), Typ. Holes (4), Typ. Holes (2), Typ.
STEEL RUB—RAILS 1 & 2 STEEL RUB—RAILS 3 & 4
14" [356]
. ., ., ., 3 5 9” 9" 5" 3
ﬁ %i“ r1e] 4 “02]! 6" [152] !4 foz] vy TSI (228 [228] (127178
f — AR
L 1—3/4”5&]777 | @«Léf Aéf«l» i
N i i T i i 5 76:1:7 3" [76]
Al I R R e el e e so
[ ! ! ! ! ! ! Screws (20), Typical 3/4"2-1/4"
_—t—t— -— 1-1/2" [19x57] Slot, Typ. 7/8"x3-3/4" [22x95]
I ‘T@T I@Q{\ [38] ” Slots (8), Typ.
‘ ! ‘ ‘ ! ‘ 1" [25] Dia. Holes for J—Hook 3/8" [10] Thick Steel Plate
7" [178] i ‘ i i ‘ i Anchors (4), Typical 6"x34" [152x864]
Dy MAIN RAILS — SPLICE PLATE
N e
31 3" [76] | | |
[787] | [ [
1 et
o 7] ‘ ‘ ‘ ‘ ‘ ‘ 3 5 9” 9" 5" 3
- oy 7\ \77\ J [761[127]  [229] [229] [127][76]
M ‘ ‘ ‘ ‘ 17 [25] Dia. Hole, 28] ‘ | | ]
4-1/2" [114] i i i i Centered, Typical ‘ ‘ ‘ ‘ ‘ ‘
1 N N N VR SN S PLATE WASHER (4) 2" mj:'»— 2" [51]
B 3" [78] ﬁ % ﬁ? % 1/4” [6] Thick Steel T = 2" [s1]
L 3/4"x2—1/4"
A 1-1/2" [38] § 77@77@77@77@7 ! [19x57] Slot, Typ. 7/8"x3-3/4" [22x95]
L] i i i i [25] Slots (4), Typ.
: : : : | 3/8" [10] Thick Steel Plate
| | | | | 4"x34" [102x864]
2-1/2" 3" 3" 3" 2-1/2"
4 4
o el el el o] RUB—RAILS — SPLICE PLATE

STEEL BACKING PLATE

MEDIAN

STEEL—BACKED TIMBER GUARDRAIL TO STONE—FACED MEDIAN BARRIER TRANSITION

Genter for
Collision Safety
and Analysis

I
GCSAN/

S1GT2a

SHEET NO.

DATE

7 of 7

5/11/2023




	STG12a_Draft1_20230511_1.pdf
	STG12a_Draft1_20230511_2
	STG12a_Draft1_20230511_3
	STG12a_Draft1_20230511_4
	STG12a_Draft1_20230511_5
	STG12a_Draft1_20230511_6
	STG12a_Draft1_20230511_7

